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= 223,063
[ 528,000
Jl 272,386
< 280,985
Al 5,080,351
BAMIY(BA/EHAAZ) 4,532,255 4,834,807 A302,552
= 223,063
s 528,000
Il 253,529
= 262,985
Al 3,264,678
2AHdy 8 137,053 452,123 A315,070
Jl 50,000
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Al 72,053
A4 29 36,193 360,523 A314,330
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O FA2el 31,333
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o228 ¥ A2E 7Y 200,000 *14] 200
301 EtE NS 500 740 A240
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oogdl & BAF 2tAl X
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CUFELES N 3,000 *400H 1,200
02 35244l 4,528 4,960 N432
O=32= & HMAl 528
od8)| 0l - HFHE SHAd &g
11,0003 40 A+ 122 528
OAI2EbBI= X 4,000
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olol= & 44 ol 26,697 21,274 N7
201 fer= 3| 2,300 2,500 A200
01 At 2|l 2,300 2,500 A200
Oget=EH| 2,300
oHMHZHE, AIDSHE 2285 7
2,300 *1,000H 2,300
202 04l 1,540 1,530 10
01 =LHA LI 1,540 1,530 10
OHIVzrgel dz+8 0|
10,0002 x1&x102] 1,100
Oulolx, diiz8E &l & AL &
Fus A 110,000 2 »23] 440
301 LELEN S 10,800 10,800
14 JIEt2 =3 10,800 10,800
CHIVZETH& I EIIE R &0 24
0,000& »1802] 10,800
307 el2to| & 12,067 12,444 N387
012z & 2=Hl 7,557 7,944 A387
Odiiz8Y FEIIESE 7
2,500 40 »23] 200
On0l= & deadd JeAle 7
19,3602 *380H 7,357
05 2IMRIE =3 4,500 4,500 0
OO0ll0I =0 AL 2 S K& (=001 =& X
AUBF=NE3]) 4,500,000 * 10 2= 4,500
ooz el XizHl XA 47,212 47,212 0
Il 23,606
= 7,081




SN EABI Y
) 2AMY(LA/L2A9R)
el ZEY 2 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 16,525
307 gl2tol & 47,212 47,212 0
Il 23,606
= 7,081
Al 16,525
0192 & 3=Hl 47,212 47,212 0
ooullol=z&! Xzl K&
47,212,0003 *14] 47,212
Jl 23,606
= 7,081
Al 16,525
OI01E &EAISF 2 6,276 6,276 0
) 3,138
Al 3,138
202 04| 266 266 0
Il 133
Al 133
01 =LHOLI 266 266 0
OHIvZgel S5 2eldl 266,000 14 266
Jl 133
Al 133
307 elztol & 6.010 6.010 0
Il 3,005
Al 3,005
012z & 2=H| 6,010 6,010 0
OOIOI =& ErAISY &
6.010& «1,0000H 6,010
Il 3,005
Al 3,005
g9 JEAleE 7Y 5,392 5,392 0
Il 2,6%6
== 809
Al 1,887
307 212+01™ 5,392 5,392 0
Jl 2,6%
= 809
Al 1,887
0122 € /=4 5,392 5,392 0
OMZAEA FITAIS 72
5,392,000 * 14 5,392
Jl 2,69%6
= 809
Al 1,887
ZELH9 At HelY@X=H| XA 315,000 0 315,000




2A:

=
—_

& 82
2+
[==]

=aak %g EFEI; - EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
308 XXM SOl 315,000 0 315,000
07 AX R FE= 315,000 0 315,000
OZ=2LH9 Al X =H|
315,000,000 x 14 315,000
2384 s 1,296,525 1,247,085 49,440
= 205,663
Jl 56,349
== 57,252
Al 977,261
Z2ggiE 22 24,344 46,200 A21,856
201 Ler23 | 19,104 39,200 A20,096
01 At2t2ltl 18,144 36,800 18,656
OZgg UHsYRFd sS4
8,000 «8&+8L x 12 6,144
OHEIUSYT =4 g &R=2
1,000,000 1CH* 12 12,000
02 s3=gHl 960 2,400 1,440
OZgg 28 sUE Sl
40,0002 x2CH* 122 960
202 04l 5,240 7,000 21,760
01 =LHAbI 5,240 7,000 1,760
OZEE us 4 110,000 x6 & *62] 3,960
Ozg 284 SR =8
20,0002 x4 *102] 800
O==0ld - AZ0HH 28 A 015
20,0002 *x28 x123] 480
Sle2AAAHE H2ZAIMA 24 20,000 27,000 A7,000
Il 20,000
307 @I2to| & 20,000 27,000 AT7,000
Jl 20,000
02 2B YAIHE X 20,000 27,000 AT7,000
Oog2etdE HEZAl 2gJ|2 23]
A& 20,000,000 * 14 20,000
) 20,000
FA & 907,666 787,057 120,609
101 @124H| 266,458 261,181 5,217
MU IIRIMZZENSES 266,458 261,181 5,217
OggAs Il =¥ 32,122
oQIfY 85,8402 x 1«52 +52%= 22,319
oFFd 85,8403 » 1 »525= 4,464
oAlREE R 2,639,000& 1 2,639
SRS 2,600,000& %1 2,600
Sl 50,0008 x1H 23] 100
Os -8 -3 d9as 234,336




SN EAME Y
BB SN (2A/2210/2)
el 2388 s EER=E)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
SRIE 78,880& x2H x50 *27 0 A 212,976
oNBAZ BHAY
6, 800 *2Z x50 27 A 18,360
SYNeIik=:E=d 3,000,000 14 3,000
201 B2 AL| 7,660 8,9%6 A1,2%
01 ArR222ltl 7,660 8,956 AN1,2%6
Oger=2| 7,660
oYdAs ESEA S 425 7Y
880,000 * 14! 880
og ¥ -5 YALSE B58 A2E(0tA
3% 3L E)
2,000 x2Z 603 *27 I 2~ 6,480
od® - AMH YHAXY| Y AE S 25|
30,0002 %102l 300
202 Ot 3,780 3,900 A120
01 =WO4bI 3,780 3,900 A120
OEAMRS g9Aa=D] 22| (bl
50,0002 *3Z*103] 1,500
OZgg &M o HAFIA gz 2L
= 20,0003 *3H «38 2,280
206 =4I 460,768 424,020 36,748
01 M=l 460,768 424,020 36,748
OF %X dEAs HEHI
371,820,000 *14] 371,820
OFlgtd RAMBIN(ESI]) A28 7
40,0002 *380CH 15,200
OiBIILIH SAP| ARE 2
55,0002 x280CH 15,400
OMAS JI3gE UK
9,500,000 14 9,500
OoiES|TIH 2AD| SEE g9A4E 2L
172,000 =284 CH 48,848
405 KR SHI 169,000 89,000 80,000
01 AL =EF S| 169,000 89,000 80,000
OrEd RUASI(ESD]) 2
900, 000& *30CH 27,000
O SIIIIM A 7
1,000, 000& *130CH 130,000
Os -8 -3 =828 siE &9a=)|
CHAl & 600, 000& *20CH 12,000
BAL LA MG (ZEHASIEA S) 11,334 11,34 0
| 5,152
& 2,061
Al 4,121
201 Ler2 | 5,030 5,030 0
| 2,000




SN EAME Y
. 2AMFY(LA/L2A9R)
el 2388 s EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 800
Al 2,230
01 At2tltl 5,030 5,030 0
OZsioly E2H|(H42, 2183 ,0123,
oA &) 4,000,000 *14] 4,000
Jl 2,000
== 800
Al 1,200
OZsae| gd 575 U=yl
70,0002 %1 70
OZsiac| 88 24 =S8l
8,000& x102/x1&~12& 960
202 04| 3,600 4,800 21,200
Jl 1,800
=S 720
Al 1,080
01 2LHA b 3,600 4,800 21,200
OZHASIEAL 04H|
20,0002« 1 *102* 122 2,400
7l 1,200
S 480
Al 720
OZ"iae| & o2 MAM 2% &
& odl 20,0003 x1H 52«12 1,200
Jl 600
=S 240
Al 360
307 212+01& 2,704 1,504 1,200
Jl 1,352
=S 541
Al 811
0122 € =4 2,704 1,504 1,200
OZHASIEAL S 2,704,000 x14] 2,704
Jl 1,352
= 541
Al 811
SoA Fse A (2 JRPHUL X XY) 4,418 4,418 0
Il 2,209
= 884
Al 1,325
307 gl2to| & 4,418 4,418 0
Il 2,209
= 884
Al 1,325




SN EAME Y
BB SN (2A/2210/2)
&2l ZHEE UsS (CH9: &S1)
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
0192 & =4l 4,418 4,418 0
OYURAYUL BT X2
4,418,000 *14] 4,418
Il 2,209
== 884
Al 1,325
SoA B ARG (ZEE IS FEX ZAH 4,49 4,49% 0
Il 2,247
< 899
Al 1,349
307 212t01™ 4,49% 4,49% 0
Il 2,247
== 899
Al 1,349
0122 2 3= 4,49 4,49% 0
OB IS HEX 2Z
4,405,000 + 14 4,495
Jl 2,247
s 899
Al 1,349
BAHA ZSHAURAIG (B ZEHET A D X 16,775 17,752 A977
#)
= 8,387
S 2,516
Al 5,872
307 212t01& 16,775 17,752 A9TT
= 8,387
S 2,516
Al 5,872
012z € /=4 16,775 17,752 A977
2AL ZEL A M
16,775,000 * 14! 16,775
= 8,387
S 2,516
Al 5,872
HaA FSALAG(ZH DA T S FHAANS 22 53,482 53,482 0
el)
Il 26,741
=S 10,697
Al 16,044
307 @I2t01 & 53,482 53,482 0
Il 26,741
= 10,697
Al 16,044
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SN EABI Y

BB SN (2A/2210/2)

ol ZZE US EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SHUIQITIIoH At BI&I AL & RIZ2 IR 157,080 157,080 0

= 157,080
301 EtE NS 157,080 157,080 0
= 157,080
01 Al EE AT S (2 RDEXMR) 157,080 157,080 0
OstdIelloi At TIcHAL !IZXE = K&
170,000 x77H*12& 157,080
= 157,080
dAdE Ad 340,978 452,257 A111,279
) 7,800
< 10,490
Al 322,688
S d A 29 231,046 253,050 A22,004
101 @124H| 51,772 50,636 1,136
M OIRINZZ2NSE S 51,772 50,636 1,136
O=x @A B 2A=Xd Ao 51,772
oQI2Y 85,8403 »2H+5& x385+ 32,620
oFFrd 85,8402 x2& x385 6,524
e
85,8403 x2EH x30L *150% 7,726
oAlREEE 4,762,000 *14] 4,762
oIl =H| 70,0002 x2EH*13] 140
201 fet=3| 46,720 57,520 10,800
01 At 22|l 46,720 57,520 10,800
OABYMTE +42
1,200&%17,50021 21,000
OTD A IIZ&E 442
20,0003 3 *43] 240
OAHZUEX FIBA =28
500,000& *12] 500
Oogageld HE2CH WEHIE
100,000 «2H 200
OYyagela RFTRE 248
600,000 %12 600
Ogadeld H=xclihlE
330,000 +6E 1,980
O22HII=Z XMelHl&
1,200,000& «12& 14,400
O2zHll=E 8717
2,20031,500H 3,300
OMNSA2HHA AMBAAN & NS &
& gam A ol
1,500,000 *32] 4,500
307 21201 & 132,554 140,3%4 AT,840
0122 & 3=l 132,554 140,3%4 AT,840




SN BAHFE D
A HAMF(L2H/2A9T)
Ciol H2ME A
RN - I BRA(E) - HRA - BES of v A
ogeraza 4,600
oolZX olotE g
1,00020%1,000 1,000
oYBEz oot gl
1,000 100 100
o= L A2ARE P (FADI2 69
) 12,5002 *70E+42 3,500
Ostgdigd 6,000
oftddlz &F FY 80,0002 x55H 4,400
cBIYEE 228 29
80,0003 20512 1,600
ogddc|d 121,254
o 2tE A AFAISS 520,000 40SET 20,800
oY MZ A Al 93,4003 *4S+6SET 2,242
o T A S Al
134, 0703 » 135 +65ET 10,458
o DXNESSAAIS
72,0002 *35+6SET 1,296
oM ZHEBHAAIS
51,9703 x35#4SET 624
o= HAAIY 58,0003 x25+30SET 3,480
o EBAAIS 500, 000 x2S +20SET 20,000
o0l 4= AKX 300,000 20SET 6,000
oY LHAIZ Al 181,8403+85+25 2,910
oMZEI 2 300& *20,000H 6,000
o3 EME A 200 *20,0007H 4,000
orSHIXIHHES 351,000 #4428 A 15,444
oHANAADE 80,0002 30583 19,200
o FLR S LB AAISY
400,000 *2Z+8SET 6,400
oPCRZ ALAI 2F 1,200, 0003 *2SET 2,400
O=sclxza 700
oHHH 10 12,000 & %50H 60
oZHHIH 8 12,000 & *50H 60
o XHE HiIOK 35,0003 *50H 175
oBHEES 55,0002 *3H 165
oICTHE 12,0002 90 108
oHI01E HIOIZ 66,0003 x22r A 132
NSALS SSHTSEAS 15,600 15,600
Il 7,800
= 1,560
Al 6,240
201 er2 3| 6,000 6,000
Il 3,000




SN BARE}
T HAUT(2A/HAR)
g9 AAAE A3 (EH9): ®2)
A - E3 SRl (BIH) - HISAY - BAS A TmET
= 600
Al 2,400
01 A22teld 6,000 6,000 0
OFLEHAIY nN=28s 7
6,000,000 * 14| 6,000
J| 3,000
= 600
Al 2,400
202 044 2,700 2,700 0
J| 1,350
= 270
Al 1,080
01 ZLHHI 2,700 2,700 0
O0gloIEAEE 2% 0|
20,0003 *3H 5«93 2,700
J| 1,350
= 270
Al 1,080
307 QI2t01 A 6,900 6,900 0
J| 3,450
& 690
Al 2,760
01 23 & 3=H| 6,900 6,900 0
LOIEAGE AjE 2,900
oA YEE 150, 000& * 10JH 1,500
| 750
= 150
Al 600
o3 EBHEE 2 88
140,000 * 104 1,400
| 700
= 140
Al 560
O0el 02T LAY 4,000
oHHIE &= 400,000 *108F A 4,000
J| 2,000
& 400
Al 1,600
2 2A 43,990 59,780 A15,790
201 Let2AH| 10,050 8,800 1,250
01 AtR2teld| 2,100 3,000 A900
OFLEHAIZ0N T2 A2 &H| 2=2IHI(X
DUXBEOR}, #HEDA %)
2,100,000 * 14 2,100




S AR
. 2AMY(LA/L2A9R)
Rl e A (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
03 Ar=EHI 7,950 5,800 2,150
O7&=229 & A 7,950
oTUEEES(AENE S)
2,500 %5004 *35 3,750
o0t M (S92 0 S)
200,000 *20H 2+ 13] 400
oQlg= S| 3,800,000& 12 3,800
202 04l 2,160 3,200 21,040
01 =LHAHI 2,160 3,200 1,040
o7& osd& 20,0002 *4 & +33] 9 2,160
301 EtE NS 1,200 1,200
11 #AIAHIXIE = 1,200 1,200
OTLHA & #AL HAT 24|
2,5002+4802 *13] 1,200
307 glztol & 26,580 46,580 /20,000
012z & 3=l 26,580 46,580 A20,000
OXHE M A
150, 000 *6 Al E 40K 2 3,600
O=24 sl 400,000 202 A 8,000
Oct8EA 288 15,0002 %102 *40H A 600
OdgorA3 15,0003 #5652k *4 0 A 300
OZEXE did 65,0003 x2S *44 2= 520
Oollzel 2&(eiHd, &=225)
130,000 *3E5*4H & 1,560
Ox=ssd X=X12 At 2/=8l X
40,0002 300 12,000
405 AHAHE S 4,000 4,000
01 AL =S F=HI 4,000 4,000
OXIDFHI(01SA! BIILHI]) 7L
4,000,000 *1CH 4,000
stojet SE5EA 17,055 15,860 1,19%
= 1,500
Al 15,555
201 ger=3| 3,020 2,400 620
== 1,000
Al 2,020
01 At22t2l] 1,200 1,200 0
Oget=ZH] 1,200
olfetI=SEolstatesl AES A
1,200,000 *14] 1,200
= 500
Al 700
03 A= 1,820 1,200 620
olsttl=saossigs &It 24|
1,820,000 *14] 1,820
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7,200
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7,200
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SN BAMHY
M SAUF(2AH/2AAZ)
Chelr A4S AN (St &)
S - EE - BRI(EH) - AIRAY - BAS of v e HIDE2
Al 1,692
01 At22t2H| 2,417 2,417 0
OFGHZ AHAA O E2EE L 84
oF XM= 2,417 00021 %14] 2,417
= 725
Al 1,692
307 QI2H01 & 22,350 22,350 0
= 6,705
Al 15,645
01 o2 & 3= 22,350 22,350 0
OB,CE2tE HUAA Al P
30,00084+745% 22,350
= 6,705
Al 15,645
MY A (2AHHE W) (DIEHIIE 1,822,530 2,181,573 359,043
Il 18,857
= 18,000
Al 1,785,673
old 2| 1,379,570 1,698,012 318,442
pJ 18,857
= 18,000
Al 1,342,713
BHA DDA (BAL S ZHHT D2XY) O 51,383 48,745 2,638
24|
pJ 18,857
Al 32,526
101 Q12| 43,59 40,687 2,912
J| 16,715
Al 26,884
03 BRE(RIHL) 22X 4 43,59 40,687 2,912
OS2 MLU2ASA 43,59
Sl 27,070,000+ 1% 27,070
pJ 13,535
Al 13,535
oXQag 80,0002 * 1% » 128 960
Il 480
Al 480
ollELY 70,0002 %12 122 840
pJ 420
Al 420
oX24Y 1,020,00084%23] 2,040
oH24Y JHtE 50,0002 %1%+ 12 600
Il 300
Al 300




SN EABI Y
M HAPAZH|(SHHFD)(DIEH/DIE
chol: ol (19 @)
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
oXNZ+E 200,002 * 1« 122 2,400
Il 1,200
Al 1,200
odAHG A 130,000 x1&* 122 1,560
Il 780
Al 780
o HE S I 2,038,500 *1&*120% 2,447
oG JE A 109, 1032 x 1 *10 1,092
SN EEES
12, 7503 * 1 +20 A1 2H 12 % 150% 4,590
M HASFESS 7,784 8,058 N2T4
Il 2,142
Al 5,642
04 SR (RIAHA) 22X BEEHERE2 S 7,784 8,058 N2T4
OAMzIEEE JI2RES
4,284,000 * 14! 4,284
Il 2,142
Al 2,142
OEXNHE=s 3,500,000& %1 3,500
el E2d| 1,328,187 1,649,267 A321,080
== 18,000
Al 1,310,187
101 e124d| 1,328,187 1,649,267 A321,080
< 18,000
Al 1,310,187
01 &= 564,882 797,632 N232,750
OAlRIZ2g =& 565,126
=) 12,5313 #6512 +57 A 2H+ 123 +50% 218,566
o7s 11,3192 %26 +57 Al 2+ 123 x50% 100,649
o8g 10, 1623 48 #57 Al 2t 123 +50% 166,820
S =] 9,620 x21H+57 A 2Hx 12 #50% 69,091
OAIZMERDIM AlEIZ2 28 =it2
10, 1622 x4 *20A1 2t 123 9,7%
02 JIeta 2= 661,799 750,063 A\88,264
NI=PeN 22,689
oAIZt2l 2R+ T2 14,049
-8 10, 16223 »1&*x30AI 2H= 123 3,659
-9=2 9,620 x3Z+30AI2H< 123 10,390
oz &l 8,000 x4 *102x 122 3,840
o=LH0YI 20,0003 x4H 52« 128 4,800
OSSEAHAM 529,711
SN2 R" N2
13,3692 x33Z x10AI 2+ 123 52,942




SN EABI Y
M HAPAZH|(SHHFD)(DIEH/DIE
el i Eg| (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
NFEEEPSTEST=
13,3692 * 102 *x30A| 2+ 123 48,129
oMzasdds
920,000 *33H * 122 364,320
o2 ReE 40,0002 x33E «12& 15,840
ol1EEER 30,0002 x25H 122 9,000
oExAZ2RE 52,0003 x20H 123 12,480
oFTIIURES HdrE 27,000
—IZLHY HYES 24 ol
45,0002 «1H+202* 122 10,800
~D2UHY TAXY LTS
45,0003 1 H+65IH K| A+ =23 12 5,400
-ZZUH9 s =R
45,0002 x5 x4 x 122 10,800
OAIZIHEHRIQDIM(EH X~ SelXlg 8
eled) 109,399
o= 3,082,000 «2E « 12 73,968
= 18,000
Al 55,968
od A3 338,500 «2H 123 8,124
oS$HQr 147 93021422+ 122 3,551
oARelRReY Houz
101,620 x2&~ 123 2,439
ST ZAH| 140,000 22+ 122 3,360
oXZEXH|(824L)
157,500 x2&* 122 3,780
oot Al 1,484,30021+2% 2,969
SNEIEEESSIE St
10, 1622 x2Z *20A[ 2+ 123 4,878
oJtEsE 40,0002 x1&x 122 480
ojel st 43,7502 x2&* 122 1,050
SRR 4,800,002 14! 4,800
03 B2 (RIH )22 R4 101,506 01,572 166
OAIZIRIRR4E
14,8403 x 19 +20A| 2H+ 12 x150% 101,506
=&l 442,960 483,561 240,601
Jl=23H] 442,960 483,561 240,601
201 eer23y| 283,528 320,715 A37,187
01 AtR2t2|HI 94,940 11,172 A16,232
OYetgH| o 4
48,464,000 x14] 48,464
O=2g+g A4 14,238,0003 %14 14,238
Oll=Hl S4AH & 1,470,000& 14] 1,470
OSEHl S94A & 30,768,000& x14] 30,768
02 S3=gHl 188,588 209,543 N20,955




SA: 2ABY D
MM HYSAFH(BH&E ) (OIEH/IIEH
g7l =2t (Er9:&e)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
02223 2 MAl 5434
86,976,000 & 14| 86,976
OAEEYISAHl SHHA
82,612,000 *14! 82,612
OX+eg - AdetH] SHA A
19,000,000 *14! 19,000
202 0idl 138,782 141,778 A2,9%
01 =WO4bI 42,782 50,578 AT, 796
ORA2E SUAY 42,782,000 & 14 42,782
02 X0l 96,000 91,200 4,800
OBAXL HA 200,000& x 12 =123 28,800
SHI=ZA MR 200,000& x28H 122 67,200
203 AR F=&lh| 20,650 21,068 A418
01 J|22g AR FA| 6,000 6,000 0
O8AHAE 6,000,000& 6,000
02 R RFAIL| 5,410 5,828 A418
OBAA HA A ZH(F| 237H)
5,410,000 & * 14! 5,410
M EAN2EHRFA| 9,240 9,240 0
OBAF N (104H)
(400,000&+(5,000R *74H ) )+ 12& 9,240




